KANSAS CORPORATION COMMISSION RIGINAL OIL & GAS CONSERVATION DIVISION

Form ACO-1
October 2008
Form Must Be Typed

KCC WICHITA

WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License #33608	API No. 15 - 035-24337-00-00
Name: W. D. Short Oil Co., LLC	Spot Description:
Address 1: _P. O. Box 729	NE_SW_SE_Sec. 6 Twp. 34 S. R. 6 V East West
Address 2: 102 S. River Rd.	920 Feet from North / South Line of Section
City: Oxford State: Ks Zip: 67119 + 0729	1490 Feet from 🔽 East / 🗌 West Line of Section
Contact Person: William D.(Don) Short, Jr.	Footages Calculated from Nearest Outside Section Corner:
Phone: (620) 455-3576	□ NE □ NW ☑ SE □ SW
CONTRACTOR: License # 32854	County: Cowley
Name: Gulick Drilling Co., Inc.	Lease Name: Waldschmidt Well #: _7A
Wellsite Geologist: Tom Blair	Field Name: Rahn
Purchaser: Coffeyville Resources	Producing Formation: Layton
Designate Type of Completion:	Elevation: Ground: 1111.9' Kelly Bushing:
New Well Re-Entry Workover	Total Depth: 2218 Plug Back Total Depth:
✓ Oil SWD SIOW	Amount of Surface Pipe Set and Cemented at: 301 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? ☐ Yes ☑ No
CM (Coal Bed Methane) Temp. Abd.	If yes, show depth set:Feet
Dry Other	If Alternate II completion, cement circulated from:
(Core, WSW, Expl., Cathodic, etc.) If Workover/Re-entry: Old Well Info as follows:	feet depth to:w/sx cmt.
Operator:	Drilling Fluid Management Plan AH I NCR 1-25-10
Well Name:	(Data must be collected from the Reserve Pit)
Original Comp. Date: Original Total Depth:	Chloride content: 10000 ppm Fluid volume: 500 bbls
Deepening Re-perf Conv. to Enhr Conv. to SWD	Dewatering method used: Free Fluids Removed
Plug Back: Plug Back Total Depth	
Commingled Docket No.:	Location of fluid disposal if hauled offsite:
Dual Completion Docket No.:	Operator Name:
Other (SWD or Enhr.?) Docket No.:	Lease Name: License No.:
8-26-09 8-29-09	Quarter Sec TwpS. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	County: Docket No.:
Kansas 67202, within 120 days of the spud date, recompletion, workover or confiside two of this form will be held confidential for a period of 12 months if recompletions.	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, onversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information quested in writing and submitted with the form (see rule 82-3-107 for confidencell report shall be attached with this form. ALL CEMENTING TICKETS MUST rm with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulate are complete and correct the tips of rule knowledge.	the oil and gas industry have been fully complied with and the statements herein
Signature: ////////////////////////////////////	KCC Office Use ONLY
Title: Resident Agent U Date: 1-20-/0	N
Subscribed and sworn to before me this 20th day of 2014	Letter of Confidentiality Received If Denied, Yes Date:
20 10	Wireline Log Received
Notary Public: Losseful du	Geologist Report Received RECEIVED
Date Commission Expires: 3-30-13	JAN 2 2 2010
Date Commission Expires.	JAN L I LUIU

DENESE A. WILSON
Notary Public - State of Kansas
My Appt. Expires 3

Operator Name: W. D. Short Oil Co., LLC Sec. 6 Twp. 34 S. R. 6 Y East West		Lease Nan	me: Waldschmidt		_ Well #: _7A		
		County: _C	Cowley				
ime tool open and cl ecovery, and flow rat	osed, flowing and shi	nd base of formations pe ut-in pressures, whether est, along with final char report.	shut-in pressure	e reached static leve	el, hydrostatic pres	sures, bottom	hole temperature, fluid
Orill Stem Tests Take		☐ Yes 📝 No		Log Format	ion (Top), Depth a	nd Datum	✓ Sample
Samples Sent to Geo	•	✓ Yes		Name atan		Top 1631	Datum (-505)
Cores Taken Electric Log Run (Submit Copy)		Yes No	[Layton		2116	(-990)
ist All E. Logs Run:							
Cement Bon	d Log, Gamma	a Ray/Neutron L	og				
	O.	•					
		CASING	G RECORD [New Used			
			-	ce, intermediate, produ	ction, etc.		
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs. / Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Percent Additives
Surface	12-1/4"	8-5/8"	23#	301'	Class "A"	185	3% Cal/2%Gel
Production	7-7/8"	5-1/2"	15.5#	2215'	Thick Set	125	6% Gel
		ADDITIONA	AL CEMENTING	/ SQUEEZE RECOR	D		
Purpose: —— Perforate	Depth Top Bottom	Type of Cement	#Sacks Use	ed	Type and	Percent Additives	S
Protect Casing Plug Back TD Plug Off Zone							
Shots Per Foot		ION RECORD - Bridge Plu Footage of Each Interval Pe			acture, Shot, Cemer Amount and Kind of M		rd Depth
1	2122-34'						
				•	4		RECEIVED
							JAN 2 2 2010
TUBING RECORD:	Size:	Set At:	Packer At:	Liner Run:	☐ Yes ☐ No)	KCC WICHIT
Date of First, Resumed	Production, SWD or Er	hr. Producing Me		lowing 🗸 Pump			er (Explain)
Estimated Production Per 24 Hours	Oil	Bbls. Gas	Mcf			Gas-Oil Ratio	Gravity
DISPOSITI	ON OF GAS:		METHOD OF CO	MPLETION:		PRODUCTION	ON INTERVAL:
Vented Solo		Open Hole		. —	ommingled		
(If vented, Su	bmit ACO-18.)	Other (Specify)			-		



W. D. Short Oil Company, LLC

Office: 102 S. River Road Oxford, Kansas Phone: (620) 455-3576 Mailing Address: PO Box 729 Oxford, KS 67119-0729 Fax: (620) 455-2980

OIL PRODUCTION

Marjorie O. Short

Don Short

January 20, 2010

Re: Waldschmidt #7A API#15-035-24337-00-00 Sec. 6- Twp. 34S- Rge 6E Cowley, Co.

To Whom It May Concern,

We are in the process of completing this well but we have not put it into production. I have filed all of the information I have available. I will file an amended ACO-1 when we get this well pumping.

Thank You,

William D. (Don) Short Jr.



REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346 P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

INVOICE			Invoice	#	231008
		========		=====	:====::
Invoice Dat	e: 08/27/2009	Terms:		Page	7

W.D. SHORT OIL CO LLC P.O. BOX 729 OXFORD KS 67115 (620)455-3576 WALDSCHMIDT 7A 23545 08-26-09

		========		
Part Number	Description	Qty	Unit Price	Total
1104S	CLASS "A" CEMENT (SALE)	185.00	12.7000	2349.50
1102	CALCIUM CHLORIDE (50#)	520.00	.7100	369.20
1118A	S-5 GEL/ BENTONITE (50#)	350.00	.1600	56.00
1107	FLO-SEAL (25#)	45.00	1.9700	88.65
Descrip		Hours	Unit Price	Total
463 CEMENT	,	1.00	680.00	680.00
	NT MILRAGE (ONE WAY)	80.00	3.45	276.00
479 TON MILI	RAGE DELIVERY	696.00	1.16	807.36

RECEIVED

JAN 2 2 2010

KCC WICHITA

				========	=========	=====	
Parts:	2863.35	Freight:	.00	Tax:	166.07	AR	4792.78
Labor:	.00	Misc:	.00	Total:	4792.78		1/521/0
Sublt:	.00	Supplies:	.00	Change:	.00		

=======================================	=======================================	

Signed						Date	
BARTLESVILLE, OK	ELDORADO, KS	Eureka, Ks	GILLETTE, WY	McAlester, OK	Ottawa, Ks	THAYER, Ks	Worland, Wy
918/338-0808	316/322-7022	620/583-7664	307/686-4914	918/426-7667	785/242-4044	620/839-5269	307/347-4577



21.1 podrae leW 80

FOREMAN RICK Led ford

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

FIELD TICKET & TREATMENT REPORT

620-431-9210 (or 800-46/-86/t)		CEMIEN				
DATE	CUSTOMER#	WELL	NAME & NUM	BER	SECTION	TOWNSHIP	RANGE	COUNTY
8-26-09	7876	Waldscha	nut JA		6	34	66	Couley
CUSTOMER	D. Shar			Gulier	TRUCK#	DRIVER	TRUCK#	DRIVER
MAILING ADDRI	ESS	OH CO.		- ONG	463	Shannan		
0,	3. Box 72	9			479	Chris		
CITY	<u>,</u>	STATE	ZIP CODE	1 [
Ox	ford	KS	67119	J	·			
JOB TYPE_5		HOLE SIZE	121/4"	HOLE DEPTH	311'	CASING SIZE & V	VEIGHT_ 85/2	'
	1 301' G.L.	DRILL PIPE		_TUBING			OTHER	
	HT_15#			WATER gal/sk		CEMENT LEFT in	CASING 20'	
	T 18.5 AV					RATE		-
REMARKS:	safety ma	ting- Rig	up to 8	5h" casing	Brank	circulation	<u>u) 15 0</u>	36/
<u>fresh</u>	yater. M	lixed 185	SKS C	1053 'A' CC	ment u/	370 cace2 , 2	70 gel + 1/4"	
flocak	MAKE 15	a Dalan.	isplace e	118.5 BB	1 fresh wa	to shot	carre in	<u>~/</u>
gad c	coment retur	as to sur	face = 12	Bbl slucy	to pit.	Job complete.	Kig dan	
					-			
								
			117					

"Thank You"

ACCOUNT	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
54015	1	PUMP CHARGE	686.00	680.00
5406	80	MILEAGE	3.45	276.00
11045	185 sks	Class "A" Cement	12.20	2349.50
1102	520*	3% COLLE	.21	369.20
11184	350*		.16	54.00
1100	45*	14 Clack Sky	1,97	88.65
SYMA	8.°	ten-milege bulk tre	1.16	867.36
		REC	CEIVED	
		MAL	2 2010	
		KCC	WCHITA	
			subtila!	4626.71
			SALES TAX	Ilde.D7
lavin 3737		931008	ESTIMATED TOTAL	4192.18

AUTHORIZTION 6, those by las Caber

TITLE OLDE Cohe Dal

DATE__

Oil Well Services, LLC

KEWII IU

Consolidated Oil Well Services, LLC
Dept. 970
P.O. Box 4346
Houston, TX 77210-4346

P.O. Box 884 Chanute, KS 66720 620/431-9210 • 1-800/467-8676 FAX 620/431-0012

INVOICE	Invoic	e #	231040
Invoice Date:		Page	

W.D. SHORT OIL CO LLC P.O. BOX 729 OXFORD KS 67115 WALDSCHMIDT 7A 23547

OXFORD KS 67115 08-29-09 (620) 455-3576

Part Numb	er Description	Qty	Unit Price	Total
1126A	THICK SET CEMENT	125.00	16.0000	2000.00
1110A	KOL SEAL (50# BAG)	625.00	.3900	243.75
1123	CITY WATER	3000.00	.0140	42.00
4406	5 1/2" RUBBER PLUG	1.00	58.0000	58.00
4104	CEMENT BASKET 5 1/2"	1.00	206.0000	206.00
4130	CENTRALIZER 5 1/2"	5.00	44.0000	220.00
4159	FLOAT SHOE AFU 5 1/2"	1.00	309.0000	309.00
Des	cription	Hours	Unit Price	Total
436 80 1	BBL VACUUM TRUCK (CEMENT)	5.00	94.00	470.00
463 CEM	ENT PUMP	1.00	870.00	870.00
463 EQU:	IPMENT MILEAGE (ONE WAY)	80.00	3.45	276.00
479 TON	MILEAGE DELIVERY	549.60	1.16	637 54

RECEIVED

JAN 2 2 2010

KCC WICHITA

	:========	============	======	========		======	
Parts:	3078.75	Freight:	.00	Tax:	178.57	AR	5510.86
Labor:	.00	Misc:	.00	Total:	5510.86		
Sublt:	.00	Supplies:	.00	Change:	.00		
	=======	=========	======	=========	========	======	

Signed	Date

BARTLESVILLE, OK 818/338-0808 3

ELDORADO, KS 316/322-7022 EUREKA, Ks 620/583-7664 GILLETTE, WY 307/686-4914 McALESTER, OK 918/426-7667 Ottawa, Ks 785/242-4044 THAYER, Ks 620/839-5269 WORLAND, WY 307/347-4577



- DITTUTE

LOCATION EUREKA FOREMAN RICK Ledford

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

FIELD TICKET & TREATMENT REPORT **CEMENT**

DATE	CUSTOMER#	WELL NAME & NUMBER			SECTION	TOWNSHIP	RANGE	COUNTY
8-29-09	7876	WALDSCHMIDT TA			6	345	<i>6E</i>	Coules
CUSTOMER				ı	1 建铁 3			
MAILING ADDRESS P.G. Box 729			Culick	TRUCK#	DRIVER	TRUCK#	DRIVER	
				463	Shannan			
				479	John			
CITY	_	STATE	ZIP CODE	7	436	David		
Ox	ford	12S	67119					
JOB TYPE	ng satrung	HOLE SIZE	72/2"	 HOLE DEPTI	1 2218'	CASING SIZE & W	EIGHT_5%	15.50
	22/5 KB			_TUBING			OTHER	
SLURRY WEIGH	fT /3. ^{2 ₩}	SLURRY VOL	39 BM	WATER gal/s	k 9.°	CEMENT LEFT in	CASING O	
DISPLACEMENT	1 <u>57.7 661</u>	DISPLACEMEN	NT PSI 600	PSI_//0	6	RATE		
REMARKS: 5	afety mes	ting- Rig	up to s	S'h" Casu	Da. Brook	cicculation	4/15	Sb)
						Rotson Puse (
						release plug		
						Bump plug		
						tion @ all s		
	ne. Job co							
	 	Py IE TE. KI	7					
			····					
	 				·			

"Thank You"

ACCOUNT CODE	QUANITY or UNITS	DESCRIPTION of SERVICES or PRODUCT	UNIT PRICE	TOTAL
5401	1	PUMP CHARGE	870.00	870.00
5406	80	MILEAGE	3.45	276.00
1121-0	125 SKS	thickset cement	16.00	2000.00
INOA	625	Sa Ketson Pass	.39	243.75
SYMA	6.87	ton mileage bulk trik	1.11	637.54
55026	5 hrs	80 Bb) VAC. TEX	94.00	470.00
//23	3000 gals	City water	14,00/1000	42.00
4406		51/2" top rubber plug	58.00	58.00
4104	1		206.00	206.00
4130	<u> </u>	5/2" commt baseet Sh" v 21/6" contralizes RECEIVED	44.00	220.00
4159		Sh" AFU flood shoe JAN 22 201	309.00	309.00
		KCC WICH	TA	
			Subtota)	5332.29
An 3737		5.8%	SALES TAX	178.57
, • •.	•	031040 mle Co, Rep.	ESTIMATED TOTAL	5510.84
JTHORIZTION_&	1 trussed by MIRE	USO TITLE CO. Kgp.	DATE	

Thomas E. Blair
22150 SE Cole Creek Rd.
Atlanta, KS 67008
620-394-2324
316-655-8585
tomkat@sktc.net

GEOLOGISTS REPORT

WELL: Waldschmidt #7A

OPERATOR: W.D. Short Oil Co. LLC

LOCATION: NE SW SE

6-34-6E Cowley County, KS

CONTRACTOR: Gulick Drilling Co. Inc.

ELEVATION: 1118 GL; 1126 KB

MEASUREMENTS FROM: 1126 KB

DRILLING COMMENCED: 8-25-09

DRILLING COMPLETED: 8-28-09



GEOLOGICAL FORMATION TOPS:

FORMATION	DEPTH
Iatan	1631 (-505)
Upper Stalnaker	Not present
Hogshooter	2091 (-965)
Layton	2116 (-990)
Total Depth	2218 (-1092)

MAJOR ZONES OF INTEREST AND HYDROCARBON SHOWS:

FORMATION: Layton

INTERVAL: 2116-2134 (sample depth)

DESCRIPTION: Sandstone, gray, very fine to fine grained, angular, trace mica, good intergranular porosity, strong odor, bright fluorescence, good show of free oil and gas

bubbles.

REMARKS AND RECOMMENDATIONS:

The Upper Stalnaker Sand that was present with a good show in the #6A Waldschmidt, was not present in this well.

The Layton Sand carried extremely good shows in the top 18 feet and graded slowly to no show by a depth of 2150 feet. This zone should be productive in the upper part.

5 ½ inch casing was set in order to further test the Layton Sand.

Respectfully submitted,

OF

Thomas Blank
Certification being Geologist
GEOLOGIST
2. THOMAS E. 9

BLAIR
5892